Problem Set 1.8B

Name ________________________________________     Date __________​​​​     Hour ______
For each matrix below, please state the dimensions.  Then indicate if it is possible to perform the indicated matrix operation.  If so, solve. If not, explain why not.
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Dimensions: ( ______ x ______ ) ( ______ x ______ )

Possible?  ________
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Dimensions: ( ______ x ______ ) ( ______ x ______ )

Possible?  ________
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Dimensions: scalar ( ______ x ______ )

Possible?  ________
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Dimensions: ( ______ x ______ ) ( ______ x ______ )

Possible?  ________
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Dimensions: ( ______ x ______ ) ( ______ x ______ )

Possible?  ________
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